sin B
J(1-sin28)

2. Show that: cos” A +sin* A+ 2 sin A cos” A= 1.
3. Prove that: (asin 6 + b cos 6)° + (a cos 0 — b sin 0)* =a” + b”.

1. Show that: = tan 6.

Prove that: sin” 6 + cos’ @ =1—cos 0 sin 6.

sinB + cos6
If sin B + sin” @ = 1, then prove that cos” 0 + cos® 0 =1.
Prove that: cos” 0 (1+ tan’ ) +sin” 0 (1 + cot” 0)=2.
Prove that: sin” A cos” B + cos® A sin’ B + cos° A cos° B + sin” A sin° B = 1.
Prove that: (1 —sin 8 + cos 8)* = 2(1 + cos 0) (1 — sin 0).
. Prove that: sec” 6 —sec’ 0 = tan” 0 + tan> 0.
{0. Prove that: sec” @ (1— sin” 0)— 2tan” 0 = 1.

(2 cos’ 9 - 1)2_

>

© 0 N o

1. Prove that: y —~_ =] —2sin"0.
cos B—sin" 6
—cosB 5
12. Prove that: Ll (cot © —cosec 6)".
1+ cosB

3. Prove that: 9 sec’B—5tan” B =5+ 4 sec” 0.

“

4. If x=asec” 0, y = b tan” 0, prove that ('—Y)" —(f) = 1.
a

X o

COS A I+sinA
5. Prove that: + =2 secA.

l+sinA cos A

16. Solve the equation for 6: cos” 0 =3

cot>0 —cos?0
17. Express cos A in terms of cot A.
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Short Answer Type Questions

3 .3 3 .3

cos  0+sin"0 cos’B-sin" O q

18. Prove that: . + - = 2.
cosO +sinb cosO —sinO

sinA+cosA+sinA—cosA_ 2 2

19. Prove that: — : - — = -
SINA —cosA  sinA+cosA sin“A—cos” A 1—2cos” A

2 2
20. Prove that: tan~ 6 N cos” 6 |

2 . 2 2 . 2 '
tan 0 -1 sin“0—cos“ O sin”O—cos’0O
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SN0 _ | 4 Ging 4 ——.
| | 1—sin® sin O

sin O
. Prove that: (1 + cot 6 — cosec 0) (1 + tan 0 + sec 0) = 2.

. Prove that: (sin 0 + sec 0)*+ (cos 0 + cosec 0)*= (1 + sec O cosec 6)

. Ifcos O +sin®= /2 cos 0, prove that cos 8 —sin 6 = J2 sin 6.
. Prove that: 2(sin® 0 + cos® ) — 3(sin 0 + cos’ 0) + 1 = 0.

1
. Prove that: (cosec 8 —sin 0).(sec 0 —cos 0) =————

tan@ + cot@ °
. Prove that: sin 0 (1 + tan 0) + cos 0 (1 + cot ) = sec 6 — cosec 0.

. Show that: cosec” 8 — tan” (90° — @) = sin” 8 + sin” (90° — ).

sin O
. Prove that:

1
. If 7 sin®A + 3 cos’A = 4, show thattan A= —= .
J3
. For any acute angle 6, prove that

(i) sin®® + cos’0 = 1 (ii) 1+ cot’0 = cosec’0

| 1
. Prove that: 1 — : —

secA—tanA cosA COSA secA+tanA
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